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1 Random variable T has a Geometric Distribution with 1
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contestant's rank 3 6 1 4 2 8 5 7 9 10

2 4 2 0 3 2 2 1 0 0d - - -

 ( )

2

2

6
1

1

6 42
1

10 99

s

d
r

n n
= -

-

´
= - =

´

å

0 74545 ⋅

 

 

 

[3] 

 The coefficient indicates that the contestant is quite good at ordering the events (since 

the coefficient is positive and quite near +1), though not necessarily at remembering the 

dates precisely. 
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regression line of y on x    
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estimate of height y  =  0.869  m   (3 s.f.) 

 

This estimate should be reliable because r is very close to 1 and we are not extrapolating 

beyond the bounds of the data set. 

 

10.2 is far above the maximum x value (2.50) in the data set therefore no confidence 

should be invested in the prediction from the regression line. 
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6 Assumptions:  the prob. of 0.4 applies equally well to the five different days of the week. 

  success on one day is independent of success on any other day. 
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No. of ‘good’ weeks is  B(7, 0.08704) 
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7 Estimates 

 
med med

IQR 27 6 IQR 40 14 ( £27)
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Checkout A was probably the ‘express’: since with a limit of five items the median ought 

to be lower. 
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[Total   60] 


